

Lario Oil & Gas Company

Jay G. Schweikert

SIOW ....

Original Total Depth:

\_\_ SIGW \_\_ Other (Core, WSW, Expl., Cathodic, etc)

Docket No.\_

Docket No.\_

Docket No.

\_\_\_Temp. Abd.

\_\_ Conv. to Enhr./SWD

Plug Back Total Depth

3-24-08

Completion Date or

Recompletion Date

301 S. Market

Val Energy

Steve Vanbuskirk

5822

SWD

If Workover/Re-entry: Old Well Info as follo

\_ENHR \_\_

\_\_\_\_\_Re-perf.

2-17-08

Date Reached TD

Wichita, KS 67202

Operator: License #

Operator Contact Person: Phone: (316) 265-5611

Contractor: Name:\_

Wellsite Geologist:

Gas

\_ Dry

Original Comp. Date: \_\_

\_ Deepening

\_\_ Plug Back\_ \_\_\_ Commingled

\_\_\_ Dual Completion

\_\_ Other (SWD or Enhr.?)

Operator:\_ Well Name: \_

2-7-08

Spud Date or

Recompletion Date

Designate Type of Completion: New Well Re-Entry

Name:

Address:

License:

City/State/Zip: Purchaser:

### ORIGINAL

#### Kansas Corporation Commission OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

#### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEAS**

API No. 15						
County: Gove						
		5 Twn	13 S	R 31	_ 🗌 East 🗹	Νe
220		•	_		Line of Section	
1050					Line of Section	
			_			UII
Footages Calc	$\sim$				mer.	
Lease Name:	e one) (NE) Hullet		NW	SW	2-6	
Field Name:				Weil	#:	
Field Name:	Ras	sal Penn S	and			
Producing For	mation:	) )			957'	
Elevation: Gro					.501	
Total Depth: 4		_	•			
Amount of Sur	face Pine Se	t and Com	ented at	292		_
	acc i ipc cc	t and Cent	ienteu at			-
Multiple Stage	Cementing (	Collar Use			✓ Yes [	
	Cementing (	Collar Use			Yes [	]
Multiple Stage	Cementing (	Collar Use	d? 		✓ Yes [	]
Multiple Stage	Cementing (epth set $\frac{22}{2}$ ) completion, c	Collar Use 36 ement circ	d? 	om***	✓ Yes [ 2236	]i
Multiple Stage If yes, show de If Alternate II o	Cementing (epth set22; completion, completion, completion)	Collar User 36 ement circ	d? culated fro	om***	2236 sx	F
Multiple Stage If yes, show de If Alternate II of feet depth to	Cementing ( epth set	Collar Used 36 ement circ wat Plan se Reserve	d? :ulated fro	om_***	2236 A sx	Fi cr
Multiple Stage If yes, show de If Alternate II of feet depth to—  Drilling Fluid (Data must be co	Cementing ( epth set	collar Used  dement circ  what Plan  de Reserveli	ulated fro	om_***	2236 A sx	Fi cr
Multiple Stage If yes, show de If Alternate II of feet depth to—  Drilling Fluid (Data must be co	Cementing (cepth set	ement circ  at Plan  e Reservel  ppm  evaporation	d?  culated fro  //	om_***	2236 A sx	Fi cr
Multiple Stage If yes, show de If Alternate II of feet depth to—  Drilling Fluid (Data must be co Chloride conte Dewatering me	Cementing (cepth set	ement circ  at Plan  e Reservel  evaporation  hauled off	d?  culated fro  //	om_***	2236 A sx	Fi cr
Multiple Stage If yes, show do If Alternate II of feet depth to—  Drilling Fluid (Data must be co Chloride conte Dewatering me Location of fluid Operator Name	completion, c surface  Management office of the set of	ement circ  t Plan  ppm  evaporation  hauled off	culated from 1070  Fluid in site:	J VS	2236 	Fi cr
Multiple Stage If yes, show de If Alternate II of feet depth to  Drilling Fluid (Data must be co Chloride conte Dewatering me Location of flui Operator Name:	completion, c surface  Managemen  Method used  d disposal if	collar Used 36  ement circ w at Plan le Reserve ppm evaporation hauled off	d?  rulated fro  1070  Fluid  site:	om	2236 sx 7-150°	7 bl
Multiple Stage If yes, show do If Alternate II of feet depth to—  Drilling Fluid (Data must be co Chloride conte Dewatering me Location of fluid Operator Name	completion, c surface  Management of the thick that	collar Used 36  ement circ w at Plan pe Reserveli evaporation hauled off	culated from 1070  Fluid in site:  License S. R.	volume_	2236 sx 7-150°	7 bl

INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

gas industry have been fully complied with and the statement
KCC Office Use ONLY
Letter of Confidentiality Received
If Denied, Yes Date:
Wireline Log Received
RECEIVED  Geologist Report RESSIVE PORATION COMMISSION
UIC Distribution
JUN 2 0 2008

<u></u> ∯ • *	1. ( \$10 m) 1 m	/	Side	Two				en de la companya de La companya de la companya de	
Operator Name:	Lario Oil & G	as Company	Lease N	Name:_	Hullet	<del></del>	. Well #:2-6	3	
ec. 6 Twp. 13	S. R. <sup>31</sup>	East  West	County:	Gove					
ested, time tool open emperature, fluid rec	and closed, flowin	and base of formations pe g and shut-in pressures, v es if gas to surface test, a final geological well site r	whether shu long with fir	ut-in pre	ssure reached s	static level, hydro	static pressur	es, bottor	n hole
orill Stem Tests Taker		✓ Yes  No		✓L	og Formatio	on (Top), Depth a	nd Datum	s	Sample
Samples Sent to Geo	·	✓ Yes    No		Nam Heeb	-		Top 3941		atum 984
ores Taken		Yes V No		Lansi	ng		3977	-1	1020
lectric Log Run		✓ Yes No		Stark	Shale		4216	-1	1259
(Submit Copy)				Hush	puckney		4255	-1	298
ist All E. Logs Run:				Base	KC		4289	-1	332
DIL/MEL/CDL	/CNL/PE			Marn	naton		4336	-1	379
				Pawr	nee		4425	-1	468
				Miss	ssippian		4606	-1	649
		CASING Report all strings set-c			w Used	tion, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weigl Lbs. /	ht	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	12 1/4"	8 5/8"	23#		292'	60/40 Poz	180	2% gel,	3% CC
Production	7 7/8"	4 1/2"	10.5#		4692'	AA2 Common	185	10# salt,	8% FLA115,
Port Collar			E.		2236'	60/40 Poz	220	6% gel, 2	% CC, 1/4# CF
		ADDITIONAL	CEMENTIN	G / SQL	JEEZE RECORD	cont. addi	tives (stg 1)	1/4# DF,	1/4# CF, 5
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks \	Jsed		Type and Po	ercent Additives	s	
✓ Protect Casing — Plug Back TD	2100-2101	60/40 Poz & Common	450 & 50	)	6% gel, 2% C	CC, 1/4# CF &	3% (	CC	
Plug Off Zone	1400-1401	60/40 Poz & Common	300 & 50		6% gel, 2% C	C, 1/4# CF &	3% CC	;	
Shots Per Foot		ION RECORD - Bridge Plug Footage of Each Interval Per				cture, Shot, Cement mount and Kind of Ma		rd	Depth
6	4598'-4606'				1000 gal 7.5%	NEFE MCA			4598'-4606'
					20076 gal Pro	Frac 2000 + 105	00# 20/40 ar	nd	4598'-4606'
					600#	30/70			
TUBING RECORD 2	Size 3/8"	Set At 4597'	Packer At	· · · · · · · · · · · · · · · · · · ·	Liner Run	Yes ✓ No			
Date of First, Resumero	Production, SWD or		hod	Flowin	g 🕢 Pumpir	ng Gas Lift	Oth	er (Explain)	1
Estimated Production Per 24 Hours	Oil 18	Bbls. Gas	Mcf	Wat	er Bi	bls. G	as-Oil Ratio		Gravity
Disposition of Gas		COMPLETION			Production Inter	val			
Vented Sold	Used on Lease	Open Hole	✓ Perf.		Dually Comp.	Commingled			

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566

Invoice Number: 114299

Invoice Date: Jun 6, 2008

INVOICE

Page: 1

Bill To:

Lario Oil & Gas Co. P. O. Box 307 Kingman, KS 67068 Fe ..... . .....

Centr' 2 2 6/13/08

		Cerry	10 000	011010		
	CustomerID	Well Nan	ne# or Customer	P.O.	Paymen	t Terms
١	Lario	AF607-278	Hullet #2 - 6	Completion)	Net 30	Days
	Job Location	100000000000000000000000000000000000000	Camp Location		Service Date	Due Date
	KS		Oakley		Jun 6, 2008	7/6/08

Quantity	ltem:	Description	Unit Price	Amount
320.00	MAT	Class A Common	14.20	4,544.00
180.00	MAT	Pozmix	7.20	1,296.00
23.00	MAT	Gel	18.75	431.25
12.00	MAT	Chloride	52.45	629.40
113.00	MAT	Flo Seal	2.25	254.25
539.00	SER	Handling	2.15	1,158.85
14.00	SER	Mileage 539 sx @.09 per sk per mi	48.51	679.14
1.00	SER	Circulate Cement & Squeeze	1,075.00	1,075.00
14.00	SER	Mileage Pump Truck	7.00	98.00
		CONFIDENTIAL WIN 16 2	DM DM	
<u> </u>	J		<u> </u>	40.405.00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1016.5 9 ONLY IF PAID ON OR BEFORE

Jul 6, 2008

Subtotal	10,165.89
Sales Tax	640.45
Total Invoice Amount	10,806.34
Payment/Credit Applied	
TOTAL	10,806.34

RECEIVED KANSAS CORPORATION COMMISSION

JUN 2 0 2008

CONSERVATION DIVISION WICHITA, KS

## ALLIED CEMENTING CO., LLC. 31881

SERVICE POINT: REMIT TO P.O. BOX 31 OAKIEY RUSSELL, KANSAS 67665 6-5-08 JOB START
//:30 Am RANGE CALLED OUT ON LOCATION SEC.6 8:00 AM Hullet LOCATION OAK/EY 1/5-26E-S INTO WELL# OLD OR NEW (Circle one) AFE 07-270 SAME PLAZNS CONTRACTOR **OWNER** CIRCULATE CEMENT & STUEEZC TYPE OF JOB **CEMENT HOLE SIZE** AMOUNT ORDERED 50 SKS COM 3/2 CL **CASING SIZE DEPTH** 450 SKS 60/40 poz 6% GEL 280CC /4 **TUBING SIZE DEPTH** DRILL PIPE DEPTH TOOL **DEPTH** 320 SKS 4544 % COMMON\_ PRES. MAX **MINIMUM** 1296 180 SKS MEAS. LINE POZMIX SHOE JOINT 23*5Ks* CEMENT LEFT IN CSG. 125Ks CHLORIDE \_ 2/00 PERFS. DISPLACEMENT **EQUIPMENT** Flo-SEAl PUMPTRUCK # **43**/ CEMENTER. HELPER **BULK TRUCK** 394 DRIVER BULK TRUCK DRIVER MILEAGE 74 PER SKI MF/2 **REMARKS:** M=X 100 SKS 60/40 POZ 6264 295 CC/4 Flo-SEAL. NO Blow, ShuT DOWN FOR **SERVICE** 45 MEN. MIX 350 5KS 60/40po2 6/6601 260 Flo-SCAI 50 SKS com 3 locc + 594EEZE DEPTH OF JOB TO 2000 FAST. NO PACKER PUMPED TUDENLE DUT OF HOLE. BENT ONL JUENT TUBENG, PUMP TRUCK CHARGE EXTRA FOOTAGE \_ COULDN'T REVERSE OUT ON SO LONE WAY
CEMENTED UP 6 TOINT TUDENL. MILEAGE @ @ MANIFOLD -THANK YOU **@** CHARGE TO: LARTO OX/+ GAS TOTAL //73 🐔 STREET POBOX 1093 CITY Garden Cty STATE KS ZIP 67846 PLUG & FLOAT EQUIPMENT To Allied Cementing Co., LLC. (a) You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was ----TOTAL \_ done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES \_\_\_ PRINTED NAME Larry Karlin \_ IF PAID IN 30 DAYS DISCOUNT \_

RECEIVED KANSAS CORPORATION COMMISSION

JUN 2 0 2008

CONSERVATION DIVISION WICHITA, KS



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887

(785) 483-5566

Bill To:

Lario Oil & Gas Co. P. O. Box 307 Kingman, KS 67068 INVOICE

Invoice Number: 114298

Invoice Date: Jun 6, 2008

Page:

1

	Center 'D	10 6/13	3/08		
Customer ID	Well Na	me# or Custome	er P.O.	Payment	Terms
Lario	AFE-07-270	Hullet #2-6	(Competion)	Net 30	Days
Job Location		Camp Location		Service Date	Due Date
KS		Oakley		Jun 6, 2008	7/6/08

Quantity	Item	Description	- Unit Price	Amount
132.00	MAT	Class A Common	14.20	1,874.40
88.00	MAT	Pozmix	7.20	633.60
81.00	MAT	Gel	18.75	1,518.75
5.00	MAT	Chloride	52.45	262.25
2.00	MAT	Chloride Sand	11.80	23.60
130.00	MAT	Flo Seal	2.25	292.50
4.00	MAT	Cottonseed Hulls	28.70	114.80
1	SER	Handling	2.15	1,449.10
14.00	SER	Mileage 674 sx @.09 per sk per mi	60.66	849.24
1.00	SER	Port Collar	1,075.00	1,075.00
14.00	SER	Mileage Pump Truck	7.00	98.00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 819.12

ONLY IF PAID ON OR BEFORE

Jul 6, 2008

297.35
8,488.59

### ALLIED CEMENTING CO., LLC. 31880

REMIT TO P.O. BOX 31 SERVICE POINT: **RUSSELL, KANSAS 67665** DAKIEY SEC. JOB FINISH ON LOCATION JOB START TWP. RANGE CALLED OUT 12:30 PM 3/10 11:00 AM 135 HUIIET EASE STATE LOCATION OAK/EY 1/5-2/2W SINTO WELL# 2-6 08 -270 (Circle one) OLD OR NEW PAINS 5AME OWNER PORT COLLAR TYPE OF JOB **CEMENT HOLE SIZE** T.D. AMOUNT ORDERED 70 SKS 62/ 35Ks Flo-SiAI
200 Hulls 25Ks SAND **CASING SIZE DEPTH** 4337' **DEPTH TUBING SIZE** 550 5K5 60/40002 6/2621 210CC USED 120 SKS 6044 ACZ 62621 1800/47 P/052NC COMMON\_132 SKS @ 14 20 18 **DEPTH** DRILL PIPE CO //AR **DEPTH** 1874 **MINIMUM** PRES. MAX 88 SKS 633 POZMIX SHOE JOINT MEAS. LINE 1518 81 5KS CEMENT LEFT IN CSG. CHLORIDE \_ PERFS. ASC **DISPLACEMENT EQUIPMENT** SANd TERRY CEMENTER\_ PUMP TRUCK F10-58A1 431 **HELPER BULK TRUCK** Hulls 200 (45Ks) DRIVER 218 **BULK TRUCK** 399 **DRIVER** HANDLING BARDSE Plub 4370 MILEAGE 94 DER 5K/ TOTAL 7018 34 **REMARKS:** PRESSURE Plub To 1000 pSI. HELD SPOT 25KS SAND AT 4337, Pull UP TO PORT COLLAR + OPEN MEX 705KS GEL WITH 35KSFlo SEM = 200 Hulls, DEDINT **SERVICE DEPTH OF JOB** HAVE CFRONTED SOM 220 THE DESTALLE

POZ 6% GET 2% CC /4 F/O-SEAT. DESPLACE

8 ABL. CLOSE PORT COMAR PRESSURE TO 1000

PST. RUN 5 TE REUSESE OUT. PUMP TRUCK CHARGE EXTRA FOOTAGE **@** MILEAGE @ MANIFOLD \_ THANK YOLL @ @ CHARGE TO: LARIO OT/4 GAS STREET PO BOX 1093 CITY Garden City STATE KS ZIP 67846 PLUG & FLOAT EQUIPMENT To Allied Cementing Co., LLC. @ \_ You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL \_\_\_\_\_ done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES \_\_\_\_\_ PRINTED NAME Larry Karlin \_\_\_\_\_ IF PAID IN 30 DAYS DISCOUNT \_\_\_\_\_

Lang Kink

SIGNATURE

RECEIVED

JUN 2 0 2008



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887

(785) 483-5566

Bill To: Lario Oil & Gas Co.

P. O. Box 307 Kingman, KS 67068

Invoice Number: 114379

Invoice Date: Jun 10, 2008

Page:

1

	Cu	ti'a all	6/16/0	<u> </u>	
CustomerID	Well Nam	e# or Custom	er P.O.	Paymen	t Terms
Lario	Completion)	Hullet #276	AFF.07-270)	CONTRACTOR AND A STATE OF THE SECOND SECURITY OF THE SECOND SECON	
Job Location		Camp Location	and the state of	Service Date	Due Date
KS		Oakley		Jun 10, 2008	7/10/08

Quantity	ltem 💮	Description	Unit Price	Amount
230.00	MAT	Class A Common	14.20	3,266.00
120.00	MAT	Pozmix	7.20	864.00
15.00	MAT	Gel	18.75	281.25
	MAT	Chloride	52.45	419.60
427.00	f	Handling	2.15	918.05
14.00	j	Mileage 427 sx @.09 per sk per mi	38.43	538.02
	SER	Circulate Cement & Squeeze	1,075.00	1,075.00
14.00	1	Mileage Pump Truck	7.00	98.00
		CONFIDENTIAL	1 8 2/0/ 1 8 2/0/	
			L	7.450.00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1745.99

ONLY IF PAID ON OR BEFORE

Jul 10, 2008

Subtotal	7,459.92
Sales Tax	469.97
Total Invoice Amount	7,929.89
Payment/Credit Applied	
TOTAL	7,929.89

# ALLIED CEMENTING CO., LLC. 31661 Federal

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
SEC. TWP. RANGE	6-07-270
DATE 6-6-08 6 135 3/w	3:00 Am 11:30Am 12:30pm
LEASE WELL# 2 LOCATION 1/2	akter sinto county state Logan ks
OLD OR NEW (Circle one)	julia situa
CONTRACTOR Plains LLC	OWNER Same
TYPE OF JOBC : recliste Cement & Squee	
HOLE SIZE T.D.  CASING SIZE 4/2 DEPTH	CEMENT
	AMOUNT ORDERED 350 SKS 6/40 6/65eL
TUBING SIZE 258 DEPTH 1366 DRILL PIPE DEPTH	50 sts con 3% oc
TOOL DEPTH	450 300 STS 6/10 6/25 CL 296 CC Ke FLO
PRES. MAX MINIMUM	COMMON_230 5ks @ 14,20 3266.00
MEAS. LINE SHOE JOINT	POZMIX 120 Sh5 @ 7,20 864,00
CEMENT LEFT IN CSG.	GEL <u>15 3k5</u> @ <u>18,75 481,25</u>
PERFS. 1400 -1401	CHLORIDE <u>8 3 k3</u> @ <u>52,45 419,66</u>
DISPLACEMENT	ASC
<b>EQUIPMENT</b>	
PUMPTRUCK CEMENTER Andrew	
#423-28 HELPER ALVIN	- 1
BULK TRUCK	MIA
#347 DRIVER TECTY DUNFILL BULK TRUCK	@
#394 DRIVER Jerry	@
BRIVER BEILD	— HANDLING 427 5ks @ 2.15 918,05
	MILEAGE 94 st/nile 538,02
REMARKS:	TOTAL 6 286 9
Load hole take INJection rate als.	
min south Mix 300 sts Eyen Gagel	SERVICE
Followed by 50 sks com 38cc Disple and squeeze 00 400th Dall 10 Joints	
Roversa clear coment did circula	DEPTH OF JOB 1366
TO SUFFACE Pressure TO SOOT She	PUMP TRUCK CHARGE
In.	MILEAGE 14 miles @ 7,00 98,00
thank you	— MANIFOLD @
,	@
CHARGE TO: Lario oil + Gas	
STREET PO BOX 1093	TOTAL 1/23, 00
_	·
CITY Garden City STATE KS ZIP 679	346
•	PLUG & FLOAT EQUIPMENT
m	
To Allied Cementing Co., LLC.	
You are hereby requested to rent cementing equipment	e — — — — — — — — — — — — — — — — — — —
and furnish cementer and helper(s) to assist owner or	
contractor to do work as is listed. The above work wa	
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERA"	
TERMS AND CONDITIONS" listed on the reverse sign	
TERMS AND CONDITIONS disted on the Jeverse sig	uc.
	TOTAL CHARGES
PRINTED NAME harry Karlin	DISCOUNT IF PAID IN 30 DAYS
/ //	RECEIVED
SIGNATURE Lang Kank	KANSAS CORPORATION COMMISSION

CONSERVATION DIVISION WICHITA, KS